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0 faian

0.1000 0.0500 0.0250 0.0100 0.0050 0.0010 0.0005
3.0777 6.3137 12.7062 31.8210 63.6559 318.2888 636.5776
1.8856 2.9200 4.3027 6.9645 9.9250 22.3285 31.5998
1.6377 2.3534 3.1824 4.5407 5.8408 10.2143 12.9244
1.5332 2.1318 2.7765 3.7469 4.6041 7.1729 8.6101
1.4759 2.0150 2.5706 3.3649 4.0321 5.8935 6.8685
1.4398 1.9432 2.4469 3.1427 3.7074 5.2075 5.9587
1.4149 1.8946 2.3646 2.9979 3.4995 4.7853 5.4081
1.3968 1.8595 2.3060 2.8965 ©3.3554 4.5008 5.0414
1.3830 1.8331 2.2622 2.8214 3.2498 4.2969 4.7809
1.3722 1.8125 2.2281 2.7638 3.1693 4.1437 4.5868
1.3634 1.7959 2.2010 2.7181 3.1058 4.0248 4.4369
1.3562 1.7823 2.1788 2.6810 3.0545 3.9296 4.3178
1.3502 1.7709 2.1604 2.6503 3.0123 3.8520 4.2209
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af ! 0.1000 0.0500 0.0250 0.0100 0.0050 0.0010 0.0005 |
14 1.3450 1.7613 2.1448 2.6245 2.9768 3.7874 4.1403
15 1.34006 1.7531 2.1315 2.6025 2.9467 3.7329 4.0728
16 1.3368 1.7459 2.1199 2.5835 2.9208 3.6861 4.0149
17 1.3334 1.7396 2.1098 2.5669 2.8982 3.6458 3.9051
18 1.3304 1.7341 2.1009 2.5524 2.8784 3.6105 3.9217
19 1.3277 1.7291 2.0930 2.5395 2.8609 3.5793 3.8833
20 1.3253 1.7247 2.0860 2.5280 2.8453 3.5518 3.8496
25 1.3163 1.7081 2.0595 2.4851 2.7874 3.4502 3.7251
30 1.3104 1.6973 2.0423 2.4573 2.7500 3.3852 3.6460
40 1.3031 1.6839 2.0211 2.4233 2.7045 3.30069 3.5510
50 1.2987 1.6759 2.0086 2.4033 2.6778 32614 3.4960
100 1.2901 1.6602 1.9840 2.3642 2.6259 3.1738 3.3905
= 1.2816 1.6449 1.9600 2.3263 2.5758 3.0902 3.2905
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E# x < 0 2T i) » BAE x < 0 6F(ER TDIST » HEE R TDIST(-x.df, 1) = 1 - TDIST(x,df, 1) = P(X > -x)

E TDIST(-x,df,2) = TDIST(x df 2) = P(IX| > x) *
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0.9950

0.9900  0.9750  0.9500  0.9000 0.1000 0.0500 0.0250 0.0100 0.0050

0.0010

0.0005

0.0000
0.0100
0.0717
0.2070
04118
0.6757
0.9893
1.3444
1.7349
2.1558
2.6032
3.0738
3.5650
4.0747
4.6009
5.1422
5.6973
6.2648

0.0002 0.0010 0.0039 0.0158 2.7055 3.8415 5.0239 6.6349 7.8794
0.0201 0.0506 0.1026 0.2107 4.6052 59915 7.3778 9.2104 10.5965
0.1148 0.2158 0.3518 0.5844 6.2514 7.8147 9.3484 11.3449 12.8381
0.2971 0.4844 0.7107 1.0636 7.7794 9.4877 11.1433 13.2767 14.8602
0.5543 0.8312 1.1455 1.6103 9.2363 11.0705 12.8325 15.0863 16.7496
0.8721 1.2373 1.6354 2.2041 10.6446 12.5916 14.4494 16.8119 18.5475
1.2390 1.6899 2.1673 2.8331 12.0170 14.0671 16.0128 18.4753 20.2777
1.6465 2.1797 2.7326 3.4895 13.3616 15.5073 17.5345 20.0902 21.9549
2.0879 27004 3.3251 41682 14.6837 169190 19.0228 21.6660 23.5803
2.5582 3.2470 3.9403 4.8052 15.9872 18.3070 20.4832- 23.2093 25.1881
3.0535 3.8157 4.5748 55778 17.2750 19.6752 21.9200 24.7250 26.7569
3.5706 4.4038 52260 6.3038 18.5493 21.0261 23.3367 26.2170 28.2997
4.1069 5.0087 5.8919 7.0415 19.8119 22,3620 24.7356 27.6882 20.8193
4.6604 5.6287 6.5706 7.7895 21.0641 23.6848 26.1189 29.1412 31.3194
5.2294 6.2621 7.2609 B.5468 22.3071 24.9958 27.4884 30.5780 32.8015
5.8122 6.9077 7.9616 9.3122 23.5418 26.2962 28.8453 31.9999 34.2671
6.4077 7.5642 B.6718 10.0852 24.7690 27.5871 30.1910 33.4087 35.7184
7.0149 8.2307 9.3904 10.8649 25.9894 28.8693 31.5264 34.8052 37.1564

10.8274
13.8150
16.2660
18.4662
20.5147
22.4575
243213
26.1239
27.8767
29.5879
31.2635
32.9092
34.5274
36.1239
37.6978
39.2518
40.7911
423119

12,1153
15.2014
17.7311
19.9977
22,1057
24.1016
26.0179
27.8674
29.6669
31.4195
33,1382
34,8211
36.4768
38,1085
39.7173
413077
42.8808
44.4337
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df | 0.9950 0.9900 09750  0.9500 0.9000 0.1000 0.0500 0.0250 0.0100 0.0050 0.0010 0.0005

19 | 6.8439 7.6327 B8.9065 10.1170 11.6509 27.2036 30.1435 32.8523 36.1908 38.5821 43.8194 459738
20 | 7.4338 8.2604 9.5908 10.850812.4426 28.4120 31.4104 34.1696 37.5663 39.9969 45.3142 47.4977
21 | 8.0336 88972 10.2829 11.5913 13.2396 20.6151 32.6706 35.4789 38.0322 41.4009 46.7963 49.0096
22 | 8.6427 9.5425 10.982312.338014.0415 30.8133 33.9245 36.7807 40.2894 42.7957 48.2676 50.5103
23 | 9.2604 10.1957 11.6885 13.0905 14.8480 32.0069 35.1725 38.0750 41.6383 44.1814 49.7276 51.9995
24 | 9.8862 10.8563 12.4011 13.8484 15.60587 33.1962 306.4150 39.3641 42,9798 45.5584 51.1790 53.4776
25 | 10.519611.524013.119714.611416.4734 343816 37.6525 40.6465 44.3140 46.9280 52.6187 54.9475
26 | 11.160212.198213.843915.379217.2919 355632 38.8851 41.9231 45.0416 48.2898 54.0511 56.4068
27 | 11.807712.878514.573416.1514 18.1139 36.7412 40.1133 43.1945 46.9628 49.6450 55.4751 57.8556
28 | 12.461313.564715.307916.927918.9392 37.9159 41.3372 44.4608 48.2782 50.9936 56.8918 592990
20 | 13.121114.256416.047117.7084 19.7677 39.0875 42.5569 45.7223 49.5878 52.3355 58.3006 60.7342
30 | 13.786714.953516.7908 18.492720.5992 40.2560 43.7730 46.9792 50.8922 53.0719 59.7022 62.1600
40 | 20.706622.164224.433126.509329.0505 51.8050 55.7585 59.3417 63.6908 66.7660 73.4029 76.0963
50 | 27.990829.706732.357434.764237.6886 63.1671 67.5048 71.4202 76.1538 79.4898 86.6603 89.5597
60 | 35.5344 37 4848 40.481743.188046.458Y 743970 79.0820 83.2977 8B.3794 Y1.9518 YU.6078 102.6971
70 |43.275345.441748.757551.739355.3289 85.5270 90.5313 95.0231 100.4251 104.2148 112.3167 115.5766
80 | 51.171953.540057.153260.391564.2778 96.5782 101.8795106.6285112.3288 116.3209 124.8389 128.2636
90 | 59.196361.754065.646669.126073.2911 107.5650 113.1452 118.1359 124.1162 128.2987 137.2082 140.7804
100 | 67.327570.065074.221977.9294 82.3581 118.4980 124.3421 129.5613 135.8069 140.1697 149.4488 153.1638
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df =24

(a)P(9.8862 < ¥*> =39.3641)
BP(t < y* <45.7222)=0.95
(©P(10.8564 < y* <1)

(dP (x2<t)=0.005
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df=24 P(9.8862 < ){1 <39.3641)
=P(y* >9.8862)— P> >39.3641)
=0.995-0.025=0.97
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